REVISION 01 NOTE:

70mm DIA x 3mm END CAPPING —=¢]| 7
& 30mm DIA PULLEY WELDED 1. Nil.
TO TOP OF FLAGPOLE GATE FRAME
/ o 40mm dia. HOLE FOR CHAIN
// o L
// % TN 100 x 50 x 10mm FLAT IRON Panel: Invisible Wall (Clear view)
~ 200 x 50 x 8mm STOP PLATE J / LI COUPLING WELDED TOP AND Panel shall be of 3,305m width and 1.8m in height.
L L WELDED TO CHANNELS 60mm x 2.5mm MS PIPE BOTTOM Panel aperture size (centers) shall be 76.2mm x 12.7mm.
10mm dia. PIVOT WELDED TO | Wire diamneter will be 3mm.
The panel shall be reinforced with 4 x 50mm deep V’
] - | I FLAT IRON TO MOVE FREELY formation horizontal recessed bands to enhance rigidity.
200mm M20 HINGE BOLT - — - Nﬂ ] Panel shall have 2 x 70° flanges along sides internal fixtures— all
G ) @ 9 X —3—— 295 x 100 x 10mm THICK +tA& =1L 1 fixtures shall be on the inside of fence line)
- IRON WELDED TO FLAT IRON T T
Z0mm x 3mm MS PIPE COUPLE TOP AND BOTTOM M Panel shall have 1 x 90° flange along top and 1 x 30° flange
200 b along toe (integrated rigid angle)Panel post shall have a flush
4 4 o anel post finish with no climbing aid.
I } 200 x 50 x 8mm STOP / o el L = 30 x 130 x 10mm THICK | | panet P 9
140 120 | 40 PLATE WELDED TO ? 8 FLAT IRON WELDED TO GATE Panel shall be affixed to post over 48 line wires using 8 x
r T T /CHANNELS / M Double bolt comb clamps and 8 x Single bolt comb clamps using 2-
/ —=—— LOCKING DEVICE IN OPEN X ; . :
[ ] Anti vandal bolts. (1.8m high will have 16 Single Bolts and 16 Tech
— — POSITION 2.1m high will have 8 Double
35 50 |30 5| 50 50 Clamps, 8 Single Clamps and 24 Tech Bolts
S G %7 200mm M20 HINGE BOLT 15]r Jr 100 ]r JP15 P 9 P )
- 20 25 GATES
130
1| L | 295 ] ‘II- 'i‘ Swing Gate Size: To be confirmed Double or Single leaf. All
— —] 100mm X 3.5mm MS PIPE F " connections and joints shall be welded to form rigid frames or assg
with corner fittings. Hinges shall not twist or turn under the action
PLAN AT HINGE BOLT FRON T ELE\/A T| ON S| DE ELE\/A T| ON shall be so arranged that a closed gate cannot be lifted off the hir
SCALE 1:5 SCALE 1:5 SCALE 1:5 Sliding Gates Size: To be confirmed Double or Single leaf. Gate frafr
fabrication and miscellaneous items shall be similar to Swing Gates
100 40 Bx 5 CHANNEL — All fittings, brackets and rear wheel tracks shall be standard manufc
% X >mm ROPE CLEAT = - products for the intended application.
) Post:
20mm DIA M.S. LOCKING 100mm dia. x 3mm FENCING POST Post to be (embedded by 600mm or to be Base Plated) accommofd
PIN WITH 50mm WASHER (NOT TO SCALE) panel height and or additions.
WELDED TO ONE END Post width shall be 85mm — tapering to 45mm with a depth of 8P
OTHER END DRILLED ,FOR o) Post shall include 'Locking Recess Mechanism’ to secure panel edgs.
8 SPLIT PIN 8 50mm dia. x 2,8mm GATE FRAME Post shall be sealed with a UV stabilized polymer cap.
— — N
A HINGE
BOLT S M16 HINGE BOLT WITH NUTS &
200 x 50 x 8mm STOP 0 WASHERS, EYES WELDED CLOSED.
PLATE WELDED TO
CHANNELS o
PLAN AT LOCKING PIN 9
onle s S TYPICAL HINGE BOLT
(e ] 20mm DIA M.S. LOCKING PIN + LOCKING SCALE 1:5
J WITH 50mm WASHER WELDED TO PIN =
ONE END, OTHER END DRILLED @) -
FOR SPLIT PIN S b — 11 V=S
I N ] o ' A N A -
- 200 x 50 x 8mm STOP PLATE ] :4"?4_4‘ :q"fﬂ FENCING POST (NOT TO SCALE)
) WELDED TO CHANNELS ] A S
o o o T M10 STRAINING EYE BOLT WITH NUT
3 o .4 4 AND WASHER. EYES WELDED CLOSED
i i o o Tioid oo 4
T 4A 4A REVISIONS
: : ELEVATION OF BASE 50 8 TYPICAL EYE BOLT
: : SCALE 1:5 14 4 FOR STRAINING WIRE DATE DESCRIPTION
: : . S ‘,4 . . __'4
. i Q- e SCALE 1:5
. . L 8,,_ -'qA:g 1 _QA:"« . 0A| 23/09/2019 | FOR APPROVAL "ONLY".
— —>— z - 2 s
SECTION THROUGH BASE | 600 | 0B| 29/11/2019 | FOR APPROVAL "ONLY",
SCALE 1:5 ELEVATION OF POLE
e N
SCALE 1:20
GALVANISED STRAINING POST, AS PER SPEIFICATION.
CLIENT:
education
STEEL SECURITY SPIKE SCREWED TO TOP OF WALL AS PER MANUFACTURERS Bapartmant
INSTRUCTIONS. SPIKE BENT UPWARDS AND FIXED IN POSITION SO THAT e Ty
GALVANISED INTERMEDIATE; Education
END OF SPIKE LINES UP WITH EDGE OF WALL AS INDICATED ON PLAN. AS PER MANUFACTURE Clar View (nstable Wl PROVINCE OF KWAZULU-NATAL
FINISH ON SPIKES TO BE CADMIUM PLATED
o Head Office, 247 Burger Street, Pietermaritzburg, 3200
Av"nﬁ§ MALLLLLLLLLAA LA LLLLLLL FIYTYTYRITININAT, TTATINIANY ALLLLLLLA ALt LLLLLLLL L Telephone Number: (033)392 1203
Fax number:  (033) 392 1203
a B \ IMPLEMENTING AGENT:
|||||||||||||||_-IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIEIIII;,IIII;I III:IIIIEIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII kL |\|\|:||||||||||||||||||||||| 1 I I A ) ‘: A A A ; e e — = =—r—r
H ié:é\' NS ) [ e e s S \ ¥ sl s =3
= s sSss====a : || ‘ 2|8 |EE2
— = \R S e s e KHAND|SA PRH\AARY S(/H()O| S gz i S=—r = ===
222mm FACE BRICK WALL WIT Al == e e e ——— S Y Y :
115mm ROLLER COURSE OVER Y- I A o o o E REFER TO NOTE ABOVE @ A
= S §H|| B : . : . : . : . : . : . : - FOR LETTERING = e \_-— _ Z _ S v
\ = ; [=3
7 N\ T T T T T T T 1 pha s} /
L = ~ . T L T T T T [ T T T A HH Headway Hill, 1258 Lever Road, Midrand, South Africa
m— SZ= 11 =N % e e s e e e e e B NS ‘ Telephone Number: +27 11 313 3911
o I = H = - e e e e e e e e e — _ﬁ‘ S HNGHH H Fax number:  +27 11 313 3500 or +27 11 313 3297
EQUAL EQUAL SINGLE PEDESTRIAN GATE 222mm FACE BRICK WALL WITH FENCE AS PER DETAILS —— ek | 490 D X, E00mM — CNCRETE BasEom™ Web: webmaster@dbsa.org
| AS PER DETAILS 115mm ROLLER COURSE OVER
DOUBLE VEHICULAH? GATE AS PER DETAILS 450 x 450 x 900mm CONCRETE BASE " CONGRETE BagE PROFESSIONAL SERVICE PROVIDER:
CONCRETE BASE

L GALVANISED STAY POLE 50mm dia. x 2.8mm BOLTED
TO STRAINING POSTS WITH 200 x 200 x 6mm BASE
PLATE CAST IN 450 x 760 x 600mm CONCRETE BASE.

TOP OF CONCRETE BASE TO BE 50mm ABOVE GROUND

SCALE: 1: 50 LEVEL.
CORNER POST INTERMEDIATE POST STRAINING POST
R West , - 3 Floor, 18 The Boul d
MAX. SPACING 3m c/c MAX. SPACING 30m c/c e eusstwa?/SOV%f?ge Park?\?\;estville?DL?I%gX?\lr
SCALE: 1:50 SECURITY FENCE DETAIL. Tel: (031) 003 3137, Fax: (031) 003 3101, F2E, 086 671 3682
‘ g sbuQuhadamacoza

PROJECT NAME INFORMATION
ALTERATIONS AND ADDITIONS TO
KHANDISA PRIMARY SCHOOL IN DLANGEZWA

75mm CONCRETE SURFACE BED
WITH PRECAST KERB, PATH TO

n
__J BE BRICK PAVING TO LATER SPEC. SECTION/BLOCK
z EXTERNAL DETAILS - BOUNDARY
a MOUNTABLE CONCRETE KERBING WALL, FENCE and GATE DETAILS.
x AS PER ENGINEERS DETAILS
l MOUNTABLE CONCRETE KERBING ——MM | ' || I I o FIFLE
AS PER ENGINEERS DETAILS FE========3 i N R
U] e A L-JE” i | ARCHITECTURAL DRAWINGS/
/ i 1 \ I |
" v o ! P LAYOUTS.
O _——— - 1 | ! |
& B_EOCK A GATE HdIJ':US':E PROFILE | : | PRAWING DESCRIPTION
— 1
L lr T - ! DETAILED PLAN, SECTIONS and
I ’,_‘-t:l" !
NEW PAVINS. TO ENGIMEER'S DETAILS ; . : || STEEL SECURITY SPIKE SCREWED TO TOP OF WALL FIXING DETAILS.
) ! , : ! | . AS PER MANUFACTURERS INSTRUCTIONS. SPIKE BENT
| / | ' [T T UPWARDS AND FIXED IN POSITION SO THAT END OF SCALE AS SHOWN
I !
SR S BRI AR
! Lo __ | |
:|.| I .
INELE PEDESTRIANI ! ' L ___ L ________________ T ! \ : | DESIGNED DATE SACAP No. SIGN.:
X - ! NM NOV. 2019 PAT24750750
222mm FACE BRICK WALL leij_g o RCS)UFEle_E v #JA?E;AR GATE |\ Tttt TS DRAWN DATE SACAP No|  SIGN.:
115mm ROLLER COURSE OVER :l 1;: \7\ NM NOV. 2019 PAT24750750
T T T T T T T I P T P P T P T P T PP PP P PR PV P PP PR ¥ mm"'""""""""\'\"'m"z""""""H FENCE AS PER DETA“—S \7 : :
913 L 5650 222mm FACE K WALL WI ; \ /\ ﬁ\ APPROVED DATE DRAWN: SIGN.:
l 7 LBl 1394 L 6403  115mm ROLLFR COMRSE OVER NM NOV. 2019
1 1 L
14693 1 DRAWING NUMBER: REVISION
/ \ ,I'r DBSA/BPP: Arch-Details/01-2019-01-034- 0A OA

PLAN

SCALE: 1:580 = f
©

PROJECTS

ARCHITECTS | PROJECT MANAGERS
Address: Unit No. 27, Pglflia{(\)e Valley, New Germany,

Cell: 062 1826 167
Emeil: nkululeko@kandzprojects.co.za



AutoCAD SHX Text
SCALE:  1:50

AutoCAD SHX Text
KHANDISA PRIMARY SCHOOL

AutoCAD SHX Text
SINGLE PEDESTRIAN

AutoCAD SHX Text
222mm FACE BRICK WALL WITH

AutoCAD SHX Text
115mm ROLLER COURSE OVER

AutoCAD SHX Text
MOUNTABLE CONCRETE KERBING

AutoCAD SHX Text
AS PER ENGINEERS DETAILS

AutoCAD SHX Text
DOUBLE VEHICULAR GATE

AutoCAD SHX Text
AS PER DETAILS

AutoCAD SHX Text
NEW PAVING TO ENGINEER'S DETAILS.

AutoCAD SHX Text
STEEL SECURITY SPIKE SCREWED TO TOP OF WALL

AutoCAD SHX Text
AS PER MANUFACTURERS INSTRUCTIONS. SPIKE BENT

AutoCAD SHX Text
UPWARDS AND FIXED IN POSITION SO THAT END OF

AutoCAD SHX Text
SPIKE LINES UP WITH EDGE OF WALL AS INDICATED.

AutoCAD SHX Text
FINISH ON SPIKES TO BE CADMIUM PLATED

AutoCAD SHX Text
FENCE AS PER DETAILS

AutoCAD SHX Text
PLAN

AutoCAD SHX Text
REFER TO NOTE ABOVE

AutoCAD SHX Text
FOR LETTERING

AutoCAD SHX Text
DOUBLE VEHICULAR GATE AS PER DETAILS

AutoCAD SHX Text
75mm CONCRETE SURFACE BED

AutoCAD SHX Text
WITH PRECAST KERB, PATH TO

AutoCAD SHX Text
BE BRICK PAVING TO LATER SPEC.

AutoCAD SHX Text
222mm FACE BRICK WALL WITH

AutoCAD SHX Text
115mm ROLLER COURSE OVER

AutoCAD SHX Text
SINGLE PEDESTRIAN GATE

AutoCAD SHX Text
AS PER DETAILS

AutoCAD SHX Text
STEEL SECURITY SPIKE SCREWED TO TOP OF WALL AS PER MANUFACTURERS

AutoCAD SHX Text
INSTRUCTIONS. SPIKE BENT UPWARDS AND FIXED IN POSITION SO THAT

AutoCAD SHX Text
END OF SPIKE LINES UP WITH EDGE OF WALL AS INDICATED ON PLAN.

AutoCAD SHX Text
FINISH ON SPIKES TO BE CADMIUM PLATED

AutoCAD SHX Text
222mm FACE BRICK WALL WITH

AutoCAD SHX Text
115mm ROLLER COURSE OVER

AutoCAD SHX Text
222mm FACE BRICK WALL WITH

AutoCAD SHX Text
115mm ROLLER COURSE OVER

AutoCAD SHX Text
MOUNTABLE CONCRETE KERBING

AutoCAD SHX Text
AS PER ENGINEERS DETAILS

AutoCAD SHX Text
FENCE AS PER DETAILS

AutoCAD SHX Text
SCALE:  1:50

AutoCAD SHX Text
ELEVATION

AutoCAD SHX Text
FENCE AS PER DETAILS

AutoCAD SHX Text
GATE, AS PER DETAILS

AutoCAD SHX Text
BLOCK A - GATE HOUSE PROFILE.

AutoCAD SHX Text
GATE FRAME

AutoCAD SHX Text
40mm dia. HOLE FOR CHAIN

AutoCAD SHX Text
100 x 50 x 10mm FLAT IRON

AutoCAD SHX Text
COUPLING WELDED TOP AND

AutoCAD SHX Text
BOTTOM

AutoCAD SHX Text
10mm dia. PIVOT WELDED TO

AutoCAD SHX Text
FLAT IRON TO MOVE FREELY

AutoCAD SHX Text
295 x 100 x 10mm THICK FLAT

AutoCAD SHX Text
IRON WELDED TO FLAT IRON

AutoCAD SHX Text
COUPLE TOP AND BOTTOM

AutoCAD SHX Text
30 x 130 x 10mm THICK

AutoCAD SHX Text
FLAT IRON WELDED TO GATE

AutoCAD SHX Text
LOCKING DEVICE IN OPEN

AutoCAD SHX Text
POSITION

AutoCAD SHX Text
FRONT ELEVATION

AutoCAD SHX Text
SIDE ELEVATION

AutoCAD SHX Text
100mm dia. x 3mm FENCING POST

AutoCAD SHX Text
(NOT TO SCALE)

AutoCAD SHX Text
50mm dia. x 2,8mm GATE FRAME

AutoCAD SHX Text
FENCING POST (NOT TO SCALE)

AutoCAD SHX Text
TYPICAL EYE BOLT

AutoCAD SHX Text
FOR STRAINING WIRE

AutoCAD SHX Text
TYPICAL HINGE BOLT

AutoCAD SHX Text
FOR GATE

AutoCAD SHX Text
M16 HINGE BOLT WITH NUTS &

AutoCAD SHX Text
WASHERS, EYES WELDED CLOSED.

AutoCAD SHX Text
M10 STRAINING EYE BOLT WITH NUT

AutoCAD SHX Text
AND WASHER. EYES WELDED CLOSED

AutoCAD SHX Text
50

AutoCAD SHX Text
50

AutoCAD SHX Text
25

AutoCAD SHX Text
25

AutoCAD SHX Text
30

AutoCAD SHX Text
50

AutoCAD SHX Text
10

AutoCAD SHX Text
20

AutoCAD SHX Text
35

AutoCAD SHX Text
295

AutoCAD SHX Text
100

AutoCAD SHX Text
30

AutoCAD SHX Text
130

AutoCAD SHX Text
15

AutoCAD SHX Text
100

AutoCAD SHX Text
15

AutoCAD SHX Text
SCALE 1:5

AutoCAD SHX Text
SCALE 1:5

AutoCAD SHX Text
SCALE 1:5

AutoCAD SHX Text
SCALE 1:5

AutoCAD SHX Text
SCALE 1:5

AutoCAD SHX Text
PLAN AT LOCKING PIN

AutoCAD SHX Text
70mm DIA x 3mm END CAPPING

AutoCAD SHX Text
& 30mm DIA PULLEY WELDED

AutoCAD SHX Text
TO TOP OF FLAGPOLE

AutoCAD SHX Text
ROPE CLEAT

AutoCAD SHX Text
ELEVATION OF POLE

AutoCAD SHX Text
SCALE 1:20

AutoCAD SHX Text
PLAN AT HINGE BOLT

AutoCAD SHX Text
SCALE 1:5

AutoCAD SHX Text
HINGE

AutoCAD SHX Text
BOLT

AutoCAD SHX Text
LOCKING

AutoCAD SHX Text
PIN

AutoCAD SHX Text
200 x 50 x 8mm STOP PLATE

AutoCAD SHX Text
WELDED TO CHANNELS

AutoCAD SHX Text
200 x 50 x 8mm STOP PLATE

AutoCAD SHX Text
WELDED TO CHANNELS

AutoCAD SHX Text
200mm M20 HINGE BOLT

AutoCAD SHX Text
20mm DIA M.S. LOCKING PIN

AutoCAD SHX Text
WITH 50mm WASHER WELDED TO

AutoCAD SHX Text
ONE END, OTHER END DRILLED

AutoCAD SHX Text
FOR SPLIT PIN

AutoCAD SHX Text
1100

AutoCAD SHX Text
100

AutoCAD SHX Text
1000

AutoCAD SHX Text
1000

AutoCAD SHX Text
2000

AutoCAD SHX Text
50

AutoCAD SHX Text
2000

AutoCAD SHX Text
3000

AutoCAD SHX Text
3000

AutoCAD SHX Text
600

AutoCAD SHX Text
1500

AutoCAD SHX Text
100 x 40 Bx 5mm CHANNEL

AutoCAD SHX Text
200 x 50 x 8mm STOP

AutoCAD SHX Text
PLATE WELDED TO

AutoCAD SHX Text
CHANNELS

AutoCAD SHX Text
200 x 50 x 8mm STOP

AutoCAD SHX Text
PLATE WELDED TO

AutoCAD SHX Text
CHANNELS

AutoCAD SHX Text
20mm DIA M.S. LOCKING

AutoCAD SHX Text
PIN WITH 50mm WASHER

AutoCAD SHX Text
WELDED TO ONE END,

AutoCAD SHX Text
OTHER END DRILLED FOR

AutoCAD SHX Text
SPLIT PIN

AutoCAD SHX Text
200mm M20 HINGE BOLT

AutoCAD SHX Text
SCALE 1:5

AutoCAD SHX Text
SECTION THROUGH BASE

AutoCAD SHX Text
SCALE 1:5

AutoCAD SHX Text
ELEVATION OF BASE

AutoCAD SHX Text
100

AutoCAD SHX Text
100

AutoCAD SHX Text
200

AutoCAD SHX Text
40

AutoCAD SHX Text
120

AutoCAD SHX Text
40

AutoCAD SHX Text
200

AutoCAD SHX Text
40

AutoCAD SHX Text
120

AutoCAD SHX Text
40

AutoCAD SHX Text
60mm x 2.5mm MS PIPE

AutoCAD SHX Text
70mm x 3mm MS PIPE

AutoCAD SHX Text
100mm x 3.5mm MS PIPE

AutoCAD SHX Text
SCALE: 1:50

AutoCAD SHX Text
SECURITY FENCE DETAIL.

AutoCAD SHX Text
MAX. SPACING 30m c/c

AutoCAD SHX Text
MAX. SPACING 3m c/c

AutoCAD SHX Text
GALVANISED STAY POLE 50mm dia. x 2.8mm BOLTED

AutoCAD SHX Text
TO STRAINING POSTS WITH 200 x 200 x 6mm BASE

AutoCAD SHX Text
PLATE CAST IN 450 x 760 x 600mm CONCRETE BASE.

AutoCAD SHX Text
TOP OF CONCRETE BASE TO BE 50mm ABOVE GROUND

AutoCAD SHX Text
LEVEL.

AutoCAD SHX Text
STRAINING POST

AutoCAD SHX Text
INTERMEDIATE POST

AutoCAD SHX Text
CORNER POST

AutoCAD SHX Text
450 x 450 x 900mm

AutoCAD SHX Text
CONCRETE BASE

AutoCAD SHX Text
460 x 750 x 600mm 

AutoCAD SHX Text
CONCRETE BASE

AutoCAD SHX Text
450 x 760 x 600mm 

AutoCAD SHX Text
CONCRETE BASE

AutoCAD SHX Text
GALVANISED INTERMEDIATE, 

AutoCAD SHX Text
GALVANISED STRAINING POST, AS PER SPECIFICATION. 

AutoCAD SHX Text
450 x 450 x 900mm

AutoCAD SHX Text
CONCRETE BASE

AutoCAD SHX Text
300 x 300 x 900mm

AutoCAD SHX Text
CONCRETE BASE

AutoCAD SHX Text
AS PER MANUFACTURE 

AutoCAD SHX Text
Clear View (Invisible Wall)

AutoCAD SHX Text
Panel: Invisible Wall (Clear view) Panel shall be of 3,305m width and 1.8m in height. Panel aperture size (centers) shall be 76.2mm x 12.7mm. Wire diameter will be 3mm. The panel shall be reinforced with 4 x 50mm deep ‘V’ V’ formation horizontal recessed bands to enhance rigidity. Panel shall have 2 x 70° flanges along sides internal fixtures- all fixtures shall be on the inside of fence line) Panel shall have 1 x 90° flange along top and 1 x 30° flange  along toe (integrated rigid angle)Panel post shall have a flush  panel post finish with no climbing aid. Panel shall be affixed to post over 48 line wires using 8 x Double bolt comb clamps and 8 x Single bolt comb clamps using 24 x  Anti vandal bolts. (1.8m high will have 16 Single Bolts and 16 Tech Bolts,  2.1m high will have 8 Double Clamps, 8 Single Clamps and 24 Tech Bolts) GATES Swing Gate Size: To be confirmed Double or Single leaf. All  connections and joints shall be welded to form rigid frames or assembled  with corner fittings. Hinges shall not twist or turn under the action of the gate,  shall be so arranged that a closed gate cannot be lifted off the hinges to obtain entry. Sliding Gates Size: To be confirmed Double or Single leaf. Gate frame fabrication and miscellaneous items shall be similar to Swing Gates.  All fittings, brackets and rear wheel tracks shall be standard manufactured products for the intended application.  Post:  Post to be (embedded by 600mm or to be Base Plated) accommodated by  panel height and or additions.  Post width shall be 85mm - tapering to 45mm with a depth of 85mm.  Post shall include 'Locking Recess Mechanism' to secure panel edge.  Post shall be sealed with a UV stabilized polymer cap.


	Sheets and Views
	Sheet 01 - Fence Details


